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QUESTION 1

Specifications are copied from the inspection lot to the inspection plan. 

A. Incorrect 

B. Correct 

Correct Answer: A 

 

QUESTION 2

The characteristics and key figures in the QM information System allow you to pinpoint and monitor weak points in your
logistical processes. 

A. Incorrect 

B. Correct 

Correct Answer: B 

 

QUESTION 3

Which statements are correct? (More than one answer is true.) 

A. A work center can\\'t be assigned to the operation in the task list. 

B. Materials, vendors, and customers can be assigned using the inspection plan header. 

C. The plan usage is stored in the inspection plan header. 

D. Test equipment can be assigned directly to an inspection characteristic in an inspection plan. 

Correct Answer: BD 

 

QUESTION 4

Which statements are correct? (More than one answer is true.) 

A. You perform a defect analysis on the returned goods and enter the defects in the notification. 

B. If an inspection lot is used, the usage decision determines the next stage for the goods; if no inspection lot is used, a
specific inventory posting can be made. 

C. Repairs Processing Using an Inspection Lot. 

D. Instead of using the quality notification to process the returned goods, you can create an inspection lot. 

Correct Answer: BCD 
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QUESTION 5

Which statements are correct? (More than one answer is true.) 

A. Measuring point from the basis for time-based maintenance. 

B. You can enter counter readings for these measuring point. 

C. The maintenance strategy can be performance-based. 

D. The maintenance strategy can be time-based. 

Correct Answer: ACD 
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